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Questions
Question - =
' numm Qu e B 5 s = el At = SLE Pdee 0 VA 5 2 v R o T 5
| Qaanﬁtaﬂva Aptitude 42%, 24%, 28% 28% X
: ’ 48%, wrang

By selling a dozen of eggs for 48, a shopkeeper bears a loss
of 4 %. If shopkeeper sells that article for 64, then the profit
% wm be -

Z Quallmaﬂ\m Apmude 5.8, 6:5, 5:8, 8:5, 85 _ 4
wrong
The price of 5 Inspiron series Laptop is equal to that of 3 Vostro
series Laptop. If the price of 7 Inspiron series and 2 Vostro
series together is ¥ 248000. Find the ratio of price of 8 Inspiron
serias and 3 Vostro series Laptops.

£

Cluantitative Astitude 108600, 11025, 22080, 11025 10500 X
12525, wrong
: Find the least possible perfect square number exactly divisible
' by 15, 21 and 35.

4 Quantitative Aptitude 80, 80, 70, 60, wrong 80 60 x

LCM of two numbers is 560 and their HCF is 10, If one of the
number is 7‘0 then find the other number.
8 Quanﬁtative Aptitude ; 6 kmi/hr, 8 kmfhr. 10 6 kmthe X
km/hr, 12 kmihr,
The current of a stream runs al the rate of 3 km/hr. A boat goes wrong
4.5 km and comes back to the starting point in 2 hrs. The
speed ﬁf tha fmat m still water is:-

6 Quantitative Aptitude 106,103, 108, 93, 103 K
wrong
Find out the value of the middle term of the series 3, 7. 11, 15,
19 upto 51 terms.
7 Qmﬁtatlve Ap.titu.de 40, 80, 20 80 wrong 20 x

A chocolate box has 5 blue, 4 green, 2 yellow, 3 pink coloured
gems. In how many ways can two gems of the same colour be
drawn from the box?

-y et = s o —— e - F . —————ie SRR S T

Quantitative Aptitude T 4.8,8.10.wong . B X

Dn

Threa number are in the ratio 4:5:6 and their LCM is 360. Find
their HCF.

9 Quantitative Aptitude 4,6, 8, 10, wrong 6 X

30 people can finish a work in 10 days by working 5 hours a
day. How many hours should 20 people work to finish the same
workln 12andaha§fdays'?

10 Quantitative Aptitude 6, 8, 10, 12, wrong 8 7 x

The Arithmetic Mean of two positive aumber is 15 and their
Geomatnc Mean is 12 What 13 the smalfer number?

11 Quantitative Aptitude 20, 15, 25, 40. wrong 15 15 v

A and B together can complete a work in 10 days. A alone can
1/16
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complete it in 15 days Now, if A goes the work oniy for haif &
day daily, then the approximale number of days required to
complete the work by A and B together s -

CGuantitative Aptitude

i ox = 102, men x(x2-6x+12} will be:-

Quantitative Aptitude

The length of a train is half the length of the platform. If with &
speed of 180 km/hr the train crosses the platform in one
minute, then what ts the length oi the train {in meters)?

Quamnativa Apmuaa

Ashok rung twice as fast as Bhanu and Bhanu nuns three times
as fast as Chetan. A certain disiance is cevered by-Chetan in
120 minutes., ihan Ashok wﬂl cevar the samse dsstance m =

1000008, 1160006,
1000098, 1100098,

wrong

500, 1000, 1500
2000, wrong

10 mins, 16 mins, 20

mins, 25 mins, wreng

Quantitative Apmude

There is increase in average weight of 9 apples i one of them
weighing 120 -gm is replaced by another weighing 300 gm, Fing
the average increase.

Quantitative Aptitude

Sanjeev invested T2100 in a saving plan at an interest
compounded semi annually. He received T 2541 after one year.
The rate of interest per annum is:-

Quantitative Aptitude

40% of Anamika's income goes 10 house loan instaliment, 25%
is her fixed day to day expenses and 20% is paid in various
investment plans. If she spends the remaining ¥7.500 on
movies and %e%sure her saiary {in {’) %s -

Quanﬂtative Apmude

By selling a car for T 56,000 Kailash lost 20 %. In order to gain
20 % he has to sell his car at the price of -

Quantitative Aptitude

The average run scored by a batsman in 20 innings s 40. H he
gets out after scofing 61 in the next inning, thpn what will be his
naw average?

20 grams, 30 grams,
40 grams, 60 grams,
wrong

5%, 10%, 15%. 20%

Wrong

20000, 25000, 30000,

106008

2000

20 mins

20 grams

20%

50,000

7’5&00 &0960 84000,
88000, wrong

40, 41, 42, 43, wrang

Quantitative Apmude

Working capacity of a man is thrice as that of his friend.
Working togethar, they can finish the work in 24 hrs. How much
fime (in hrs.) will be required for his friend to complets the same
work alone?

48 72 96 12{? wmng

Logical Reasoning

Find the next two terms of the given series.

{ IO PR

0&G, O&F, N&E,

P & G, wrong

Logical Reasoning
Find the odd man out,
6, 13, 22, 33, 44,61, 78
Lﬁg]gai Alvit;a:oning

n a class, Anusha's rank is 26" from the top and 36™ from the
bdttom wrm ta the tc{al numbﬁr Qf smﬁems in mm cfass’

Logical Reasoning

2/16

33, 44, 13, 81 wmng

.

61, 60. 59, 58. wrong

30 32, 24 28 wrong
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84000

41

O&F
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o () year old Manish is five times as old ag his brother Grueon
How oid will Manish be when he is three tiraes s otd 5o
Greece?
25 Logical Reasoning 0.916666666666667, 09:30 PM 09:30 PM v
0.875,
Mayank leaves his office at 15 min to ning n the evening. {0.895833333333333,
reaches Pinky's house in 35 mins, they finish their dinner in 0.9375, wrong
another 10 mins and leave for his house which takes another 30
mins. At what time, did he leaves Pinky's house lo reach his
house?
26 Logical Reasoning P, 8, R, Q. wrong s X
i# C + D means C is the brother of D; G - D means C is the
mother of D; C § D means C is the daughter of D then who is
the fatherin P-Q + R § 87
27 Logical Reasoning Sheela-Tuesday- Sakshi- X
Estilio, Sulekha- Sunday-Folp
Read the paragraph carefully and answer this question. Wadnesday-Boleno,
Sakshi-Sunday-Polo,

Sheela, Sabnam, Sulekha, Sits, Sakshi, Sonam and Shweta  Shweta-Monday-
are 7 membars of a ciub. Each of them likes one day of the Santro, wrong
week viz, Monday, Tuesday, Wednesday, Thursday, Friday,

Saturday and Sunday. not necessarily in the same order. Each

of them owns a different car viz, Boleno, Santro, WagonR,

Beat, Polo, Estillo and Optra, not necessarily in the same

arder.

Sulekha likes Wednesday and her favourite car is neither Polo
nor Optra. Sakshi does not like Monday and her favourite car is
Beat. The favourite car of the one who likes Friday is WagonR.
The one whose favourite car is Estillo likes Tuesday. Sita likes
saturday and sita's favourite car is not polo. Shweta's favourite
car is Santro. Sonam likes Thurday. Sabnam does not like
Estilto.

Which of the following combination is not correct 7

28 Logical Reasoning Monday, Sunday, Thursday x
Thursday, Friday,
Tomorrow is Monday. After 67 days, it will be __ ; wrong
3 Logical Reasoning 40, 80, 50, 80, wrong 50 50 v

There are Dogs and owls in a zoo. By counting heads they are
100. The number of their legs is 300. How many owls are there?

30 Logical Reasoning 242, 228, 224, 220, 228 X

wrong
Select the missing number from the given option.

3, 18,48, 93, 153, ?

3 Legical Reasoning 27,28, 24, 25, wrong 26 27 4
Find the missing character.

32 L.ogical Reasoning

E. A, C, D, wrong G x
This question is based on two statements numbered | and §
316
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You have to decide whether the data provided in tn2 statements
are sulficient to answer the question.

(A) i the data in statement | alone are sufficient fo answer the
guestion, while the data in statement {! alone are not sufficient
to answer the question

{B) if the data in statement Il alone are sufficient o answer the
guestion, while the data in statemant | alone are not sufficient
to answer the question

{C}) if the-data either in siatement | alone or in statement |l alone
are sufficient to answer the question

{D) if the data given in both statements | and |} together are not
sufficient to answer the question and

{E) if the data in both statements | and Il together are
necessary to answer the question.

How far is Sonu from the starting point?

if

I. Sonu moves 10 km towards east, then 4 km towards left, 20
km towards right and finally, 4 km towards nght and stop.

Il. Sonu moves 4 km towards east, then 4 km towards right, 28
km towards left and finally, 4 km towards left and stop.

33 L.ogical Reasoning A, E, D, B, wrong D X

This question is based on two statements numbered | and i
given below .

You have to decide whether the data provided in the statements
are sufficient to answer the question.

{(A) If the data in statement | alone are sufficient to answer the
question, while the data in statement Il alone are not sufficient
to answer the question

(B) I the data in statement |l alone are sufficient to answar the
question, while the data in statemant | alone are not sufficient
to answer the question

{C) If the data either in statement | alone or in statement If alone
are sufficient to answer the question

(D) If the data given in both statements | and |l together are not
sufficient to answer the question and

{E) If the data in both statements | and Hl together are
necessary to answer the gquestion.

Who among X YV, Z. A, B and C Is the Smallest?

i
I. Z is larger than A, X and C and is not the largest.
il. A is smaller than Y but is not the smallest.

34 Logical Reasoning Niece, Sister, Maternat Maternal v
Maternal Undle, Uncle Ungle
Pointing to a photograph. Suresh said, "she is the daughter of  Father, wrong
the only daughter of the father of my sister Sheela.” How is
Suresh related to the person in the photograph?
a5 Logical Reasoning B, A, D, C, wrong A c x

This question is based on statement, followed by two
arguments numberad | and IL. You have to decide which of the
arguments is a ‘strong’ argument and which is a ‘weak’
argument. -

{A) If only argument | is strong
{B) if only argument 1l is strong
(C) \f either | or li is strong

{D) if neither | nor N is strong and
{E) if both | and H are strong.

Shouid Indian gavernment close all the loss making public
sector urganisation 7
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i Mo, @i worker will fose their jobs, whal would they do for
artang 7

il Yes. wday i very competitive world, the oniy rule apified for
existence is "survival of the fittest”.

Logical Reasoning 448 1, 3,11,2,6. 9.4,

b

Letters of the words given below have been jumbled up and you 10, 11, 8,5, 9,9, 9, 10 10

are required to construct the meaningful word, Each lelter has 4.1, 8,3, 11, 2, 6, 5,

been numbered. Choose the correct option, 7.10.9,. 4.1, 8,3,
11,6.2,5, 7,10,

P R O P A I T R A E P wrong

T 2 3 4 5 6 7 8 9 10 11

Logical Reasoning 25,21, 20, 4. wrong 20 20

In & class of 75, where number of boys are twice that of giris,
Sonam ranked 15 from the top. If there are 10 boys before
Sonam, how many giris are there in the list after Sonam?

Logical Reasoning ) Shweta, Sakshi, Sakshi
~ 8hesla, Sonam,
Read the paragraph carefully and answer this question. wrong

Sheela, Sabnam, Sulekha, Sita, Sakshi, Sonam and Shweta
aré 7 members of a club. Each of them likes one day of the
week viz. Monday, Tuesday, Wednesday, Thursday, Friday,
Saturday and Sunday, not necessarily in the same order. Each
of thermn owns a different car viz. Boleno, Santre, WagonR,
Beat, Polo, Estillo and Optra, not necessarily in the sams
order.

Sulekha likes Wetnesday and her favourite car is neither Polc
nor Optra. Sakshi does not like Monday and her favourite car is
Beat, The favourite car of the one who likes Friday is WagonR.
The one whose favourite car is Estillo fikes Tuesday. Sita likes
saturday and sita’s favourite car is not polo. Shweta's favourite
car is Santro. Sonam likes Thurday. Sabnam does not like
Estito.

Who likes Sunday?

Logical Reasoning Cricketer, Musician,  Engineer

Enginser, Doctor,
Read the paragraph carefully and answer this question wrong

FM1. FM2, FM3, FM4, FM5, FM6 and FM7 are the 7 members
of a family. There are 3 females amang them. There are two
married couples in the family. Each of them has a different
profession from Cricketer, Tennis player, Teacher, Enginger,

Manager, Doctorand Musician, not necessarily in the same
order.

FM2 is the Tennis player and he is married to FMS, the :

Manager. FM1 is brother of FM7, who is the Cricketer. FM3 is

the Doctor and Is an unmarried lady. FM4 is the Teacher and -
the sister of FM7. FMS is not an Engineer.

What is FM1's profession?

Logical Reasoning QSBP, SBRO, QEBO SBRO

QSBO, QRRO, wreng
In a certain code, "BALL" is written as "RSHH". How will

"CARE" be written in that same code?

Logical Reasoning Sheela, Sabnam, Sabnam

Sulekha, Sita, wrang
Read the paragraph carefully and answer this question.

Sheela, Sabnam, Sulekha, Sita, Sakshi, Sonam and Shweta
are 7 members of a ¢iub, Each of them likes one day of the
week viz. Monday, Tuesday, Wednesday, Thursday, Friday,
Saturday and Sunday, not necessarlly in the same order. Each

5/16
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of thera owes g different car viz, Boleno, Santro, Waguni,
Beat, Polo, Estilio and Optra, nol necessarily in the same
order.

Sulekha likes Wednesday and her favourite car is neither Polo
nor Optra. Sakshi does not tike Monday -and her favourite car is
Beal. The favounte car of the one who likes Friday is WagonR.
The one whase favourite car is Estillo likes Tuesday. Sita likes
saturday and Sita’s favourite car is not Polo. Shweta's favourite
car is Santro Sonam likes Thurday. Sabnam does not like
Estillo.

Whose favourite car is WagonR?

42 Logical Reasoning Manager-Female- Doctor- § 4
married. Engineer- Female-
Read the paragraph carefully and answer this question. male-unmarried, married
Teacher-Female~

FM4, FM2. FM3, FM4, FM5, FM6 and FMT7 are the 7 members  marred, Doctor-
of a family. There are 3 females among them. Thers are two Female-married,
marmied couples in the family. Each of them has a different wrong
profession from Cricketer, Tennis player, Teacher, Engineer,

Manager. Doctor and Musician, not necessarily in the same

order.

FM2 is the Tennis player and he is married to FMS6, the
hanager FM1 1s brother of FM7, who is the Cricketer. FM3 is
the Ductor and is an unmarried lady. FM4 is the Teacher and
the sigter of FM7. FMS is not an Engineer,

Which of the foliowing combination is not correct ?

43 Logical Reasoning Sonam, Sheels, Sonam x
Sakshi, Shweta,
Read the paragraph carefully and answer this question. wrong

Sheela, Sabnam, Sulekha, Sita, S8akshi, Sonam and Shweta
are 7 members of a club. Each of them likes one day of the
week viz. Monday, Tuesday, Wednesday, Thursday, Friday,
Saturday and Sunday, not necessarlly in the same order. Each
of them owns a different car viz. Boleno, Santro, WagonR,
Beat, Polo, Estillo and Optra, not necessarily in the same
order.

Sulgkha likes Wednesday and her favourite car is neither Polo
nor Optra. Sakshi does not like Monday and her favourite car is
Beat. The favourite car of the one who likes Friday is WagonR.
The one whose favourite car is Estillo likes Tuesday. Sita likes
saturday and sita’s favourite car is not polo. Shweta's favourite
car is Santro. Sonam likes Thurday. Sabnam does not like
Estillo.

Whase favourite car is Polo?

44 Logical Reasoning Monday, Thursday, Tuesday Thursday x
Tuesday, Sunday,
it 5 Dec, 2017 is a Sunday, then what will be the day of 5" wrong

Dec, 20192
45 Logical Reasoning 27,26, 25, 20, wrong 27 26 b 4
What should came next in the following series?
57,41,32,28, 7
46 Logical Reasoning 1750, 1650, 1500, 165° 165° v
1200, wrong
What will be the angle between hour hand and minute hand, if
clock shows 11:30 AM?
a7 Logical Reasoning FM2 and FM5, FM1  FM2 and FM5 X
and FMS5, FM2 and
Read the paragraph carefully and answer this question. FM7. FM3 and FM5,
wrong

6/16
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FMT, FMZ, FME FMA, S, FMB and FM7 are the 7 members
of a famwly There are 3 females among them. There are two
married cougdes in ihe family Each of them has a differen:
profession from Crickeler. Tennis player, Teacher, Engineer,
Manager, Doctor and Musician. nol necessarily in the =ame
ordser.

FM2 is the Tennis player and he is married to FME, the
Manager. FM1 s brother of FM7, who is the Cricketer. FM3 is
the Doctor and is an unmarriad lady. FM4 is the Teacher and
the sister of FM7. FMS is not an Engineer.

i
What are the names of two married males?

i.ogical Reasoning _ S.0,1, T, wong | s b4

I it is possibie to make a meaninful word with the 4, g%, gt

and 7" letter of the word "CAPTION®, which of the following will
be the first letter of that word? If no such word can be formed,

Logical Reasoning Only A, Only B, Both  Only B Only B v
A and B, Nither A nor
Ayush and Saumya are children of X, Who is the father of B, wrong

Ayush? To answer this guestion which of the statements (A}
and (B} is necessary?

A. Mohan is the brother of Ayugh and the son of Z
B. Y is the mother Saumya.

Logical Reasoning 1. 2.3, 4, wrong 2 2 \/

The positions of how many digits in the number 9640728 will
remain unchanged after the digits are rearranged in ascending

order within the number?
Logical Reasoning Cricketer, Musician,  Musician ) 4
Engineer, Doctor,
Rend the paragraph carefully and answer this question. wrang
FM1, EM2, FM3, FM4. FM5, FM8 and FM7 are the 7 members
of a family. There are 3 females among them. There are two
married couples in the family. Each of them has a different
profession from Cricketer, Tennis player, Teacher, Engineer,
Manager, Doctor and Musician, not necessarily in the same
order.
FM2 is the Tennis player and he is married to FMB, the
Manager. FM1 is brother of FM7?, who is the Cricketar. FM3 is
the Doctor and is an unmarried lady. FM4 is the Teacher and
the sister of FM7. FM5 is not an Engineer.
What is FM5's profession?
Logical Reasoning 5.7.9. 3, wrong 5 9 X
Find the missing character.
F’ g
7 11
3  {
8 2
Logical Reasoning : East, West, North,  North North v
South. wrong

From his house, Suman went 20 km to the north. Then, he
tumed west and covered 12 km. Then, he tumed south and
coversd 6 krn. Finally Wwrning to east, he covered 12 km. In

7116
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which direction s he from bis howse?

54 Logical Reasoning 234861 23415 X

o b
o

Ny s

Gl s

Afrange the words grven below in a meaningful sequenae

ey

1. Cure

2. Doctor

3. Diagnasis
4. Treatment
8. Recovery

55 Logical Reasoning lnerease, Decrease.  Decrease Decrease v
' Expand, Good, wrong
in this question, jumbled letiers of a meaningful word are given,
Yau are réguired to rearvange these lelter and select from the
given alternativas, the word which is almost similar in the
meaning to the rearranged word.

"NIRKSH"

56 Loglcal Reasoning Sheela, Sakshi, Shesla X
Shweta, Sabnam,
Read the paragraph carefully and answer this question. wrong

Sheela. Sabnam, Sulekha, Sita, Sekshi, Sonam and Shwela
are 7 members of a club. Each of them likes one day of the
week viz. Monday, Tuesday, Wednesday, Thursday, Friday.
Saturday and Sunday, not necessarily in the same order. Each
of them owns.a different car viz. Boleno, Santro, WagonR,
Beat, Polo, Estillo and Optra, not necessarily in the same
‘arder,

Sulekha likes Wednesday and her favourite car is neither Polo
nor Optra. Sakshi does not like Monday and her favourite car is
Beat. The favourite car of the one who likes Friday is WagonR.
The one whose favaurite car is Estillo likes Tuesday. Sita likes
saturday and sita's favourite car is not polo. Shweta's favourite
car is Santro. Sonam likes Thurday. Sabram does not like
Estillo.

Whio likes Tuesday?

57 Logical Reasoning 12-21-23-22-10, 10-19- 11-20-22-21-9 11-20-2221-
21-20-8, 11-20-22-21- 9

HLEFT" is coded as "17-24-23-9", then how will you code 9, 18-9-7-8-20. wrong

"RIGHT? '

58 Logical Reasoning

FM1, FM5. FM6,  FMS x
FM2, wrong

Read the paragraph carefully and answer this question.

FM1, FM2, FM3, FM4, FM5, FMG6 and FM? are the 7 members
of & family. There are 3 females among them. There are two
married couples in the family. Each of them has a différent
profession fram Cricketer, Tennis player, Teacher, Engineer,
Manager, Doctor and Musician, not necessarily in the same
order.

FM2 is the Tennis player and he is married to FMB, the
Manager. FM1 is brother of FM7, who is the Cricketer. FM3 is
the Doctar and 15 an unmarred lady. FM4 is the Teacher and
the sister of FM7. FM5 is not an Engineer.

Who is musician?

59 Logical Reasoning

o e A i < e i e e e e A e S e

9 km, 12 kmi, 10 km, 10 km 10 km v
15 km, wrong

Mohan starts from a point D and travels 2 ki eastwards to E

and then wirns left and travels 8 km that distance o reach F.

He again lurns feft and travels 5 times the distance he covered

between D and E and reaches his destination G. What is the

shortest distance between the starting point and the

destination?

8/16
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85

87

89

70

71

74

75

Logical Reasoning 28, 81, 122, 453 122 253 b 4
WIOng
Find dut the wrong nurmber 1o the sertes.
5,13, 29, 81, 122, 263, 508
Marathi Language ) 1,1, 1.1, wrong T Wt v
AEITEIE T WV FA? HRA? AR A AT A
Marathi Language 11,1, weeng ATV - e -gaw X
wrAE? S S SR ¥
Marathi Language 1. 1,1, 1, wrong mz‘ﬁ} ’?W?ﬂ m@r '?!f?q x
wiErd a7 WS GE AW § ATy IEIINATGE ) m’“‘?’"% Yo 38
Marathi Language 1,1, 1, 1, wrong T w2z m‘m X
TR S 1 i 2 ? RHAIFT AT FRT F
Javeh
Marathi Language 1, 1. 1. 1, wrong ey grer? v
mmmmngwm%*ﬁw -
Marathi Language 1,1, 1.1, wrong IR wIEEs v
YIRPTIR A GTA U
Marathi Language 1,11, 1, wrong By mr,m 7o X
AT 2TA J20T A WA RN 790%0T F At ar M .
2777w R awwmw amr? ?@m ‘
 Marathi Language ‘ 1, 1. 1, 1, wrong ATATR  HIOANE o
| TR W 7 37 oy FaTCETONET AT FAr?
Maraihi Language 1, 1, 1, 1. wrong e é"ﬂﬁ‘mr r{ggf B'Nh'?u‘r \/
7 & doft ardre @rarEdE? A7 E %AEEL qes ‘"*"‘ ) g
/ wHEA
ST wEE @R m
Marathi Language . 1.1, % 1. wrbng R S m v
e— o

Wi Rl I . I
Marath: Languag& 1, 1,1, 1, wrong T 9H X
wgm B ORE G AT AU HASR IR
Marathi Language 1 1 1, 1 wrong Agvardy eyl wedt X
A Ty wEEE rERE 27Ar 37at e, PR R
R HE mm’a Hped aa‘rar?a m
Marathi Language 1,1, 1, 1, wrong At A v
R g S R ?
Miarathi Language 1.1, 1, 1. wrong AT MR X
a7 e e #ivatE W eraaaa? e R
Marathi Language 1,1, 1, 1, wrong Yy - ATy v

9/16
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LA F F wAT auT N
76 Marathi Language 11, 1,9, wrong FE? A g K

FYTHTOT MTPOT STM?? A PAITAI% TR YOG BIAAL

AT T FHIA AT e R
. T pcr
T GG
Fhrarg w#Y
LEGH
77 Marathi Language 11 1,1, wiong AEAT s X
W g MR 7 N T T T N T
WY 7EUTATA?
78 Marathi Language 1, 1. 1,1, wrong ACH? FEH? v
QY A UTETE WA W08 werar? - _ .
79 Marathi Language 1.1.1.1, wrong sparer 3T v
q? 1707 §F? Al om? AW WI7E FWE WR?
80 Marathi Language 1, 1. 1, 1, wrohg Tardr T kool v
8 W 0 S o B ? SURY B o g
81 Professional Knowledge - Electrical 1, 2, 3. 4, wrong 4 .3 X
Which of the following Torgue (T) - Armature Current (la)
characteristics is true for Differential Compound Motor?
4 =
- "/
i // J—3
g; & -7 - W
- Ve
= -
}, e
Armature curreeyt
82 Professional Knowledge - Electrical CC, CB. CE, Both CB  CE BothCB& X
& CE, wrong CE
In Bipolar Junction transistors. the type of configuration which
will give both voitage gain and current gain is:~
83 Professional Knowledge - Electrical 0.2kViem, 1.0kV/em. 30kViem 30kViem v’
30kViem, 3kVicm, :
The dielectric strength of the air at NTP is:- wrong
84 Professional Knowledge - Electrical No lead, leading, Full No load, . No load, yf
Load, lagging, No leading leading
Synchronous condenser means an over excited synchronous load, lagging, Full
otor operating at with pfusedin  load, leading, wrong
large power stations for improvement of pf.
85 Professional Knowledge - Electrical Both 1 & 2 are Only 2 is Onty 28 3 X
correct, Only 2 & 3 correct are correct
Which one of the following isfare not true with referance to a are correct, Only 2 is :
thyristor? correct, Only 1 is
corract, wrong
1. Latehing current (iL) is associated with turn off process and
holding current {iH) with turn on process.
2. Holding current is associated with turn-off process and
latching current with turn-on process.
3. A thyristor can be termed as AC swilch,
] Professional Knowladge - Electrical Resistance, Capacitance  Capacitance v"

inductance.
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bty

89

]

92

93

Professional Knowledge - Electrical

Mare dominant property in cables amuong the folowing is

Professional Knowledge - Etectrical

Generally characteristic impedence of cable 1s taken a5

Professional Knowledge - Electrical
Which of the fallowing statements isfare rue?

1. Superconductors have almost zero resistivity

2. The external magnetic tield has no effect on superconductors

3. Barium Farrite can't be used for permanent magnets
Professional Knowledge - Electrical

Find discharge, if the power developed by a hydroelectrc

generator unit is 9.80 KW, assuming 100% efficiency, with 1.0.

m head and density of water taken as 1000 kg/m®.
Professional Knowiedge - Electrical

In which of the following cases Ferranti effect on long overhead

lines can't be experiencad?

1. The line is lightly loaded
2. The line is heavily loaded
3. The power factor is unity

Professional Knowledge - Elactrical

Consider the following circuit and find current due to 1A source

only.

—-———\j\,——-‘ o _I~-‘—-—-:

e

' ‘ : i

S g T ""\*,
“f‘?\it) e 23 iy z ‘SV

Both1&2 Both28& Both2&3

Reluctance.
Capatilance, wiony

4000, 40, 400, 4kQ, 404 400 v
wrong
Only 1 & 2 are Oriy 183is Only 1is X

correct, Only 2 is correct correct
correct, Only 1 & 3 is

correct, Only 1 is

correct, wrong

1.2 m3/s, 1.6 m3/s.2 10 m’s x
m3/s, 1.0 m3/s, wrong

Which of the following quantity will be reduced due to skewing

of rotor in a three-phase squirrel cage induction motor?
1. Parasitic torque

2. Starting torque

3. Pullout torque

Professional Knowledge - Electrical

Given V curve ({_ v/s I.) corresponds to which of the following
type of motor?

YA

> X

Professional Knowledge - Electrical

Choose the comect option with reference to induced current in
the loops by a straight current carrying conductor as shown in

11716

Both28&3
3. Only 1, Only 3,
wrong
DA4A OA (-04A) 1A 0 4A 1A o i
wrong
Only 1iscorrect, 1& 1,28&3are Oniy1is X
2 are correct, Only 3+ correct correct
iscorrect, 1, 2 & 3 are
correct, wrong

Synchronous motor,  Synchronous  Synchronous
Induction motor, DC~ mator mofor

shunt motor, DG

series motor, wrong

Clockwise current in A Anii- Anti- x
and zero current in B, Clockwise Clockwise
Clockwise curemt in B currentin A cumrent in B

and zero current in'A,  and and



eY

fig. below.-
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Anti-Clockwise cunent Jockwise

in B and clockwise
current, Anti-
Clockwise current in A
ard clockwise current.
WEONG

95 Professional Knowledge - Electrical Voltage commutated
chopper. Load-
Output voltage waveform as shown in fig. refers to which of the  commutated chopper,
following category of chopper configuration? Current commutated
chopper, ldeal dc
‘i‘é'& chopper, wrong
Vg>
| i - \ .
il B
96 Professional Knowledge - Electrical 1 & 2 are correct,
. Only 3 is correct, 2 &
Which of the following follows the property of transrmission line? 3 are correct, 1 & 3
g ara correct, wrong
a7 Professional Knowledge - Electrical 1.11 k?, 2 k?, 111.94
k?. 3 k?, wrong
What will be the value of gate-source resistance (in kQ) for an
SCR if the gate-cathode characteristics has a straight-line
siope of 130, trigger source voitage of 15 V and allowable gate
power dissipation of 0.5 walis?
98 Professional Knowledge - Electrical Single Phase fully
controlled ac to dc
Far the waveform (as shown below), which of the options is converter, Voltage
true? commutated de to dc
chopper with input dc,
Phase voltage of a
2E3 L Three-phase inverter
: 4n S= with 180 ¢, Three-
=) 3 3 phase diode bridge
0 2% ot rectifier, wrong
wm| 5 28
@3] 7 Ts
o4 Professional Knowledge - Electrical 18, 10, 25, 5, wrong
A 50 Hz, 3-phase synchronous §enerator has inductance per
phase of X mM. The capacitance of generator and cirguit
breaker is 0,002 pF. If the natural frequency of oscillation is 29
kHz, find the value of inductance X.
100 Professional Knowledge - Electrical 172,1k?,2k?, 27,

For the AC circuit as shown below, iIf the rms voltage across

the inductor is 30 V, value of inductor is 8.5 H, what is the value

of resistor?

12/16

wrong

current in B

Ideai de

rhoroer

AD-BC=1

1.11 kG

Phase voltage
of a Three-
phase inverder
with 180°
conduction
and input dc
voltage E

15

1 kO

CloCk wise
current in A
X
ADBC=1
X
X
X
20 X
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Tk Professional Knowledye - Electrical Ouiy 1, Only 2, Both 1 Only 3 OQnly 3 -\/
A 2, Only 3, wrong
Consider the following statements and choose the innoract
L & e

1 The nature of reactive power compensaiion s diferent Tor
peak load and of-peak load conditions.

2 Ferranti effect is significant only oh medium and long Hnes.
3. BEquivalentT gircuit of a long line is preffered 10 equivalent-n

whreuit,
Hi2 meessionw Knnmectne Elﬁmmai Larger than the input  In phase with Out of phase X
signal, In phase with  the input with the input
The output signal of a commori-collector amplifier is always:-  the input signal, Out  signal signal
of phase with the input
signal, Exactly equal
to the input signal,
-erag
105 Professional Knowledga - Elactrical ' High input impadanca High inpit  Lowinput 3¢
ang high output impedance impadance
An emitter follower circull widely used in AC amplification has  impedance., High and low and high
E—— Input impadancé and  output autput
low output impedance impedance
impedance., Low input
impedance and tugh
output impedancs.,
Low input impedance
and low outpl
imMance w:eng
104 Professional Knowledge - Electrical WhOYA, AIWh, Wb-m,  WbiA . AMWD X
Him, wrong
Permeance which is the property of the snagnetic cireuit due to
which it atlows flow of the magnetic flux through it can be
mpawr&u in —
106 owessianai Knowledge - Electrical Unity, Lagging, Lagging -  Leading 4
Leading, Zero, wrong
What is the nature of power factor if surge impedence loading is
éess than mad’?
106 meessional Knawiedga Elactm:al Only 1 All 1 2 & 3 A1, 283 All 1 2 & 3 \f

Orily 2& 3, Only 1 &
Which among the followirig i& a type of three phase transformer 2, wrohg
sonnection?

1. Star-Star connection
2. Open Della connection
3. Seott cannectmn

107 Professional Knowtedge - Electrical 400MW, 100MW, 100MW 100MW v
200MW, 1600MW,
The BIL (Surge Impedence Loading) of the transmission line for  wrong
gwen cmﬁguraﬁan-Sphase 200;:\! 400 ohm is:-

108 Professional Knowledge - Elecirical © No change Increases, Decreases increases X
Decreases,
With increase in temperature what is the effect on insulation of  Exponentially
cable? increases wmng
109 Professional Knowledge - Electrical Type-A chopper, Type-A Type-A v
Type-B thopper, chopper chopper
Which type of chopper has the following circuit configuration a8 Type-C chopper,
shown? Type-D chopper,
wrong

13/16
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Professional Knowledge - Electrical

|
i

110 Both Statement (1) Both X
and Statement (Il) are  Statement (1)
Staternent {I}; In a negative feedback amplifier, the noise voltage  individu, Both and
due to noise generated within the amplifiers is reduced. Statement (1) and Statement (it}
Statement {HH): Negative feedback reduces the amplifier gain. Statement () are are
individu, Staterment (I}  individually
is true but Statement  true and
{i) is faise, Statement Statement (li)
{1) is false but is the correct
Statement (Il) is true, explanation of
wrong Statement (i)
11 Professional Knowledge - Electrical 1,2,3and 4,2, 1,4 1,2, 3and4 1,3 2and x
and 3, 1,3, 2 and 4, 4
Each instruction in an assembly language program has the 2. 4.1 and 3, wrong
foliowing fields.
{1} Label field
{2) Mnemonic field
{3) Operand field
{4) Comment figid
What is the correct sequence of these fields?
112 Professional Knowledge - Electrical Maximum permissible Minimum Minimusm 4
gate voltage, gate voltage  gate voliage
What does the part "oy” as referred to the diagram of forward Maximum permissible to to
gate characteristics of a thyristor represents? gate current, Non trigger SCR trigger SCR
triggering gate voltage,
vy Minimum gate voltage
to trigger an SCR,
wrong
F fym tg
113 Professional Knowledge - Electrical 45, 30, 90. 120, wrong 90° a0" v
in drawing the excitation diagrams of a DC machme, the field
winding will be drawn at to the armature circuit.
114 Professional Knowledge - Elecirical 8.06 ohm, 8.05 ohm, 6.05 chm 6.05 ochm v
0.808 ohm, 0.0608
Loss in transmission line is 20 MW and is loaded at 110kV. if  ohm, wrong
load is 200MVA and length is 100km then resistance per km is
115 Professional Knowledge - Electrical 1.2 M?, 1.6 M2, 3M?, 1.5MQ 1.5 MQ \/
6 M?, wrong
A 400m cable has insulation of 3 MQ2, what is the resistance of
800 m cables?
16 Professional Knowledge - Electrical 1 & 2 are correct, 4 loop 4 loop v
Only 3 is correct, 2 &  equations =quations
An electric circuit with 8 branches and 5 nodes will have 3arecomect, 1 &3
are correct, wrong
117 Professional Knowledge - Electrical 1 & 2 are corract, 18&3are Oniy 3 is x
Only 3 is correct, 2 &  correct correct

14/16
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ywhich of the folinwing will not be the nature of torque pioduced 3 aro comect, 1 &3
when a d.o series motor is accidentally connected o single are correct, wrong
phase a.c supply?

1 Steady & unidirgctional
ing & unidirectional
3 Oscdiating

24

118 Professional Knowiedge - Electrical 20 kW, 10 kW, 15 15 kW 15 kW v
KW, 18 kW, wrong
For a 3-Phase Induction motor, rotor Copper losses al & shp of
4% 15 B25W. Find the rotor power oulpul.

119 Professionsl Knowledge - Electrical Only 2 &4 are Only28&4 Only284 o

correct, Only 1 8§ 4 are correct are correct

Nhich of the following is true for auto4ransformer in comparison  are correct, Only 2, 3 3

to its twoswinding ¢ounterpart? & 4 are correct, Only
4 is correct, wrong

1 Higher reactance

2. Lower losses

3 Higher Exciting current

4 Belter vollage reguiation

120 Professional Knowledge - Electrical 8O0 MWh 2000 720 MWh 500 MWh x
MWh, 720 MWh, 400
What will be the daily energy produced in a thermai power MWh, wrong

station at a load factor of 0.6 when the maximum demand of the
station is BOMW?

e S - AN o S

121 Professional Know{edge Eiecmcal i 2 an& 3, tand 3 Zand sonly  Zand ooy
only, 1 and 2 only. 2
Ini arder to generate a square wave from a sinusoidal input and 3 only, wrong

signal, one can usel-

1. Clippers and amplifiers
2 Schmitt trigger circuit
3 Mcmosmbie mumvsbratwr

el o i s it NP - g amain

122 Professional Knowledge Eiectrieal Zem Less than AC, Less than AC Zem X
Greater than AC,
Corona in DC supply is Cannot be calculated,
wrang
123 Professional Knowledge - Electrical -5 fim, 10-10 f/m, 1010 ym 10719 fim ‘/
10-8 fim, 10-4 fim,
A 500 distortionless transmission line has inductance per wrong
matre of 0 25pH Whet is the aapac;kancs? _
124 Professional Knowledga «+ Electrical ‘ § ohms, 7 ohms, 16 10 ohmis 1 kilo ohms 3
. ohms, 1 kilo ohms,
Find the base impedance for a 10 kv, 10 MVA 3-Phase wrong
sysie m
125 profassionsl Knowhdge - Electrical 1A, 2A, 3A, 4A, wrong 3A 3A v
Find the value of current | from the circuit as shown below.
126 Professional Knowledge - Electrical 0.4 O in series with 0.044 Q in 0042 Qin
the meter, 1.0 O in paraliel with  paralie! with
An ammeter has a current range of 0-5 A, and its internal series with the meter, the meter the meter
resistance is 0.40. In order to change the range to 0-50 A, we  0.044 O in parallel
need to add a resistance of - _, with the meter, 0.065

15/16



126

128

130

247

Frofessional Knowledge - Etectrical

Which of the Taliowing can't be considerad under the cilepury of

veriable loss in & rolating machines?

Professional Knowledge - Electrical

What Is the size of memory for an arranagement of eight
memory chips of 32x4 bit size having their address buses
connecled together? -

Professional Knowledge - Electrical

_is the maximum reverse voliage that a thyristor
an withstand repeatedly and is equal 1o the peak negative
va‘u& of a sine voitage wave.

Professionsl Knowledge - E!ecm'ieal

i pariled with the
mistar, wiung

opneri2RY loss,
Carger slray load
Lure stray load
i, Hysteresis loss,
WONG

1 & 2 sre correct,
Only 3is correat, 2 &
3are correct, 1 & 3
are correct, wrong

1& 2 are carrent
Only 3 is currect, 2 &
Jare correct, 18 3
are correct, wrong

Short transmission
line, Transformars,

Lightening arresters, buchholz relay together used for protection  Madium rapsmission

of

S L

imes, Alternators,
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Hysterasis

ioss

32 x 32 bits

Peak working
TeVerse
voltage

Transformers

Hysteresis \f
loss

256 < 4 hits M

Peak working \/
e SR SHCT
voltage

Transformers v



